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Excel A5 S5 LMDEREA

& TEEK
_ (21 + a1Z_1 + a2Z_2
Hz) = 1+ byz71 + byz72
& BRI _ '
H(e) = ag + a;e 19T + qeJ20T

1+ bye~JoT + pye—jzwT

DFDEE(N — Re):Ry = ag + a;coswT + a,cos2wT
DFOEEN — Im): Iy = —a;sinwT — aysin2wT
PEDZEER(D — Re):Rp = 1+ bycoswT + bycos2wT
DFDEE(D — Im):Ip = —bysinwT — bysin2wT

2 2
iRiE e = Yo T
VRS + 13

SEXRILREKE
f. =8 Hz (EE)

& FTRLB(HEARN)
BR =ne/?" v, =2nf, T =1/f,
B =r,e/", w, =2nf,, T = 1/f;
Zero —1 o1y, Zero—f - f,
Pole =1 > 1, Pole — f - f,

S RERBDEH
2F = h,(1 — 2r,cos(w,T)z™t + r2z72)
ag = hy, a, = —2hyrycos(w,T), a, = hor?
S8 =1-2r,cos(w,T)z™t + 1272
by =1, b, = —2r,cos(w,T), b, =r?

OHHLEDE
w(n) = x(n) — byw(n — 1) — byw(n — 2)
y(n) = agw(n) + a;w(n — 1) + a,w(n — 2)

®ANES
x(n) = cycos(2nfiT) + cycos(2nf,T)

SAUNNIVAGEEE
Impulse=1¢&95¢

x(n) = 6(n) = {é n=0

n*0

&Y, y(n) =AU NILVREE LS.
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